~\

PLACE SSW PANEL OVER " " PLACE SSW PANEL OVER THREADED
u o DRILL 2" DIAMETER x 1
STEEL STRONG-WALL MODELS | (o |o] o) o |H THE ANCHOR BOLTS AND / ™ DEEP HOLE OR NOTCH \ RODS AND SECURE WITH HEAVY HEX
| oty |
SECURE WITH HEAVY e g NUTS (PROVIDED). USE
STD. WALL -STK WALL HOLDOWN | QTY. OF STEEL 2"x2"x1" DEEP MAX. IN S )
- w — w MODEL MODEL H(in) | T (in)| ANCHOR |TOP OF WALL HEX NUTS. (PROVIDED) STRONG-WALL™ SHEATHING & RIM JOIST. Aol L Lt WRENCHISOCKET FOR 3/4" NUT nl 212
NO. NO. BOLTS? SCREWS! USE 1%" WRENCH / SOCKET FOR 3/4" NUT NAILING SET LOWER NUT FLUSH 1 5/8" WRENCH/SOCKET FOR 1" NUT Z|9 |0
Y b o4 SE 154" / " | | WITH TOP OF SHEATHING NUTS SHALL BE SNUG TIGHT. ola|o
1| sswizxy - 80 | 312 | (234" 4 USE 178" WRENCH / SOCKET FOR 1" NUT BY OTHERS ' DO NOT USE AN IMPACT WRENCH alala
I [N\ \_0]] + SSWiSe 00 312 N1 S NUTS SHALL BE SNUG TIGHT. SSW BASE PLATE SHALL : =D
SSWaa I X - (2) 1" DO NOT USE AN IMPACT WRENCH. FRAMING BY JOIST HANGER SIT FLUSH & LEVEL ON NUTS. =1
SSW18x7 -- 80 31/2 @)1 9 L] OTHERS, o oo SIMPSON A34 EACH SIDE =28
_ _ SSW21x7 — 80 | 3112 @1 12 — — = = TYPICAL ¥ L Q| o
O\ 0] SSW24x7 -- 80 31/2 21" 14 Ty ' RENNA m m . A SOLID BLOCKING BELOW S |5
L SSw24 L SSW12x7.4 .- 85 1/2 31/2 (2) 3/4" 4 SEE\SSW1/ 10 \SSW1/ FOR | | | | .. . . }/ STEEL STRONG-WALL .
m SSW15x7.4 -- 851/2 31/2 ) 1" 6 ANCHORAGE SOLUTIONS < < T < / f/ WOOD FIRST-FLOOR E § §
: ol |o| |o] |O o W18x7.4 -- 1/2 1/2 2) 1" oo o R oo - o R Y
Ssw21 Sswar wein T s : REGISTERED DESIGN PROFESSIONAL e A4 i v 1 (s WALL CONNECTION KIT 3188
1llotal i SSW21x7.4 - 85112 | 31/2 @1 12 IS PERMITTED TO MODIFY DETAILS oS ] T o - S|
0 0 SSW24x7.4 - - 851/2 | 31/2 (21" 14 FOR SPECIFIC CONDITIONS. . :l e 4-: : « : : . _I:' MK (I I WALL | \oDEL
SSW21 SSW12x8 -- 931/4 | 31/2 (2) 3/14" 4 ! TR 4 N H’ A 1 4 | WESSH NO. CONTENTS 5
N " - - SSW15x8 SSW15x8-STK | 931/4 | 31/2 (21" 6 a'l \o < "o COUPLER NUT 1 | Sle|w
. . A4 .
m SSW18x8 SSW18x8-STK | 931/4 | 31/2 2) 1" 9 STRONG-WALL ON CONCRETE 4 < e AND THREADED 12 |SSW12-1KT|EACH KIT CONTAINS: k y
SSW21x8 SSW21x8-STK | 931/4 | 31/2 @) 1" 12 RODS (INCLUDED (1) SHEAR TRANSFER PLATE
T SSwis . SECTION WITH SSW_-1KT) 15 |SSW15-1KT|  (with #14 SCREWS)
- - SSW24x8 SSW24x8-STK 931/4 | 312 @1 14 FOR 8" TO 12" BLOCK DEPTHS: PLACE SSW PANEL OVER - (2) 3/4"x18" or 1" x 18" THREADED \
[0N__/ 0] SSW12x9 - 1051/4 | 312 | (234 4 SWPSON cs16 ilTLF;A(ZSl fSE..QUl'E..E)D THESAI\EI\éCUI:z(éR M;Bl_?':THSE/:I\\I/ 3 1N a4 SEE SHEET 18 |SSWIEIKT| " RoDS (ASTM A36) 4
- " x=72 4G X L 2) COUPLER NUTS
I sswig Y SSW15x9 SSW15x9-STK 1051/4 | 31/2 2 1” 6 SHIM BLOCK HEIGHTS GREATER HEX NUTS. (PROVIDED) SEESSWY 10 \SSW/ FOR SSW1 FOR 21 SSW21-1KT Ezi HEAVY HEX NUTS
SSW18x9 SSW18x9-STK | 1051/4 | 31/2 21 9 THAN 8" AND UP TO 10" . : . ANCHORAGE SOLUTIONS ANCHORAGE INTERIOR ELEVATION
i i NMN SSW2Lx0 SSW2LxoSTK | 10512 1 312 21 2 8 NAILS INTO BLOGK USE 1}% WRENCH / SOCKET FOR 3/4" NUT SOLUTIONS. 24  |SSW24-1KT|INSTALLATION INSTRUCTIONS
8 INTO SSW NAILER STUD USE 1%" WRENCH / SOCKET FOR 1" NUT
SSW15 SSW24x9 SSW24x9-STK | 105 1/4 | 31/2 ) 1" 14 SHIM BLOGK HEIGHTS GREATER % NUTS SHALL BE SNUG TIGHT. REGISTERED DESIGN PROFESSIONAL ORDER FIRST FLOOR CONNECTOR KIT SEPARATELY.
SSW12x10 - - 117 14 | 31/2 (2) 3/4" 4 THAN 10" AND UP TO 12" DO NOT USE AN IMPACT WRENCH. IFSoFl;EsRPMEIInTFElg E% "\\I/IE()DITDIIgKISDETNLS % MODEL SSW_-1KT . EXAMPLE: SSW21-1KT
Al o] |o] |o] [o] |H ON O SSW15x10 SSW15x10-STK | 117 1/4 | 31/2 2 1" 6 o FLAT SHIM BLOCK 18 lNfor'gSS'gvTvoNilLfECRKSTUD :
N - Ll sswis SSW18x10 SSW18x10-STK | 117 1/4 | 31/2 ) 1" 9 [ X #14 SCREWS TO — Jolollo i
SSW21x10 SSW21x10-STK | 117 1/4 | 31/2 ) 1" 12 ‘ ‘ PANEL (PROVIDED ,— SHEAR TRANSFER STEEL
i i TN e e o = ‘ ‘ ‘ ALTERNATE 1ST FLOOR WOOD FRAMING / WITH SSW. -1KT) SLATE. (PROVIDED STEEL \_ J
2 2 X x10- 2 | - f LTP4 SPACING _— 4x SHIM BLOCK WITH SSW _-1KT) -
SSW12 SSW15x11 SSW15x11-STK | 129 1/4 | 51/2 21" 6 N BY OTHERS \\ \ A / - f \
N N
SSW18x11 SSW18x11-STK | 1291/4 | 51/2 ) 1" 9 N " N / BLOCKING
!  WALL PROFILES |- ATTACH WITH SDSY," x 4% T YA - - RIM JOIST
soval | sswsparon [ [sin [ or | e I UENENG |2 oeow sy
SSW24x11 SSW24x11-STK | 1291/4 | 51/2 @)1 14 L] INsTERD OF SDSY" x 3%" | | o FOR SPECIFIC CONDITIONS. mS=EEEEEEES 7 : | JOIST HANGER <> ‘
SSW15x12 SSW15x12-STK | 141 1/4 | 51/2 2) 1" 6 a H| SCREWS PROVIDED. A 1°ferel el 1/ < - < (IF REQUIRED) = )
SSW18x12 SSW18x12-STK | 1411/4 | 51/2 @1 9 0110110( 10 ADJQYC(E)'#L EFRRQM&, 0110110110 B — 2
SSW21x12 | SSW21x12-STK | 1411/4 | 51/2 21" 12 AND #14SS|-IEEI:?:RDTRRIG'_\IISEE§CFI;II§/-\|/— E L FLOOR SHEATHING . = DOy
SSW24x12 SSW24x12-STK | 1411/4 | 51/2 21" 14 (PROVIDE'D WITH SSW. -2KT) if Lo — —] nRo
IA%LDESWT?" SCREWS PROVIDED WITH WALL SSWISS SSWISI3 STK | 15314 | 5172 (@)1 2 2xX FLAT SHIM BLOCK 4x SHIM BLOCK - 4 \ O é <3
2. SEE s4HXEET2 SSW1 FOR ANCHORAGE SOLUTIONS SSW21x13 SSW21x13-STK | 153 1/4 | 51/2 (2) 1" 12 ‘ S FLOOR FRAMING AT 2-0° LL D0
' | ssw24x13 [ SSW24x13-STK [ 1531/4 [ 51/2 21" 14 4x SHAPED | SOLID BLOCKING BELOW L0d COMMON OC MAX. WHERE FRAMING — 9< 4
SHIM BLOCK ~ CRIPPLE SHEAR WALL STEEL STRONG-WALL 0d COMMONS 4 | ISPARALLEL TO WALL, &> B
(12" MAX. DEPTH T BLOCKING AND STRAP i BETWEEN FLOOR FRAMING | O RAMING Y INSTALL BLOCKING WITHIN = Wyn_-o
STEEL STRONG-WALL MODELS 1 [T AT TALL END) I i BY OTHERS 10d COMMON NAILS (NOT PROVIDED) SHEAR TRANSFER 6" OF EACH END OF SSW. O O < ZA
= o = (NOT PROVIDED) < BY OTHERS BLOCKING DEPTH SHALL = L o)
\\ N\ LTP4 SPACING X (LTP4 SHOWN) MATCH FLOOR FRAMING. L o2z
RIM JOIST, BEAM, BY OTHERS \ % %gg
OR BLOCKING TOP PLATE 1IN ™~— ATTACH SDS SCREWS EXTERIOR ELEVATION SECTION P I—lJQO{ .
RIM JOIST —_— Q- =0u]
IF APPLICABLE ATTACH SDS SCREWS TO BLOCKING = o544
7/n TO SHIM BLOCK FIRST FLOOR AT WOOD FRAMING NOTES: oS IToo—
\2 %" MAXIMUM WOOD SHIM A ellel o] o] I =l [ol1°l1°] o] | SHEAR TRANSFER 1. USE WOOD FIRST-FLOOR ALLOWABLE LOAD TABLES FROM THE
%EHS‘E'?G S%G)F(z E}KTESREWS. ol lollallo ADIACENT ollol ool = ADJACENT FRAMING BY OTHERS STRONG-WALL CATALOG FOR THIS INSTALLATION.
T — ! ERAMING BY OTHERS (SIMPSON LTP4 SHOWN FOR 7 PERPENDICULAR FLOOR FRAMING SPACED 7\ > | @ 4
i ] ‘\y\ .‘ ) i THAN 74", SEE a BY OTHERS ILLUSTRATION) AT 2'-0" OC MAXIMUM. WHERE FRAMING 2. USE ALTERNATE DETAlLTO ACHIEVE MAXIMUM ON-CONCRETE REGISTERED DESIGN PROFESSIONAL == §
1/4" HOLES TO ATTACH 8 W IS PARALLEL TO WALL, INSTALL ALLOWABLE LOADS. IS PERMITTED TO MODIFY DETAILS O E.‘ Q
OPTIONAL BLOCKING OR ollol ol I RAKE WALL CRIPPLE WALL BLOCKING WITHIN &' OF EACH END OF 3. FOR TWO-STORY STACKED STEEL STRONG-WALLS WITH WOOD FOR SPECIFIC CONDITIONS. 0| 20 B
EFRAMING SDS %" x 3%" SCREWS n- -
N INCLUDED WITH WALL o STEEL STRONG-WALL. BLOCKING DEPTH 7\ =
NS N\ REGISTERED DESIGN PROFESSIONAL SHALL DESIGN FOR: ( ) SHALL MATCH FLOOR FRAMING DEPTH. FIRST FLOOR, USE ALTERNATE DETAIL S = e
ATTACH T?F: OF1VYALL TO TOP PLATES 1. SHEAR TRANSFER REGISTERED DESIGN PROFESSIONAL - | 5
PRE-ATTACHED —==— WITH SDS %" x 372" SCREWS (PROVIDED) 2. OUT OF PLANE LOADING EFFECT IS PERMITTED TO MODIFY DETAILS FIRST STORY A 4. REGISTERED DESIGN PROFESSIONAL SHALL DESIGN FOR SHEAR TRANSFER "l \'“\
WOOD STUDS 3. INCREASED OVERTURNING AND DRIFT FOR SPECIFIC CONDITIONS. STEEL STRONG-WALL FROM RIM JOIST TO SILL PLATE AND SILL PLATE TO FOUNDATION. k J
STEEL PANEL DUE TO ADDITIONAL HEIGHT.
HOLES PREDRILLED IN T
OPTIONAL PILOT HOLE TOP OF WALL HEIGHT ADJUSTMENTS 5 | TWO-STORY STACKED FLOOR SECTION 8 FIRST FLOOR AT WOOD FRAMING 10| ™\
STUDS FOR WIRING. ‘/_
D/l
A1 I PREFABRICATED HOLES IN STEEL
| PANEL (VARY WITH EAGH MODEL DRILL 2" DIAMETER X 1" —— PLACE SSW PANEL OVER THREADED
011010} |0 . ) e ~ DEEP HOLE OR NOTCH " RODS AND SECURE WITH HEAVY HEX -
ADDITIONAL 1-1/8" DIAMETER A L e O Bxiar I — 3 2"x2"x1" DEEP MAX. IN NUTS (PROVIDED). USE ) HEADER BY OTHERS. %/?gvflg'\'fg"gg;\‘:gl-"\l“e& SEE SIDE I
HOLES MAY BE DRILLED THRU\\ : —— . SHEATHING & RIM JOIST. ololls 1 5/8" WRENCH/SOCKET FOR 1" NUT 2 PLY 2x12 MIN WITH %" '
WOOD STUDS AT ANY HOLE 0110110/ /0 HOLES NOT PERMITTED. A SET LOWER NUT FLUSH NUTS SHALL BE SNUG TIGHT. SHEATHING BETWEEN PLYS <
LOCATION MATCHING AN W /\ ) WITH TOP OF SHEATHING. DO NOT USE AN IMPACT WRENCH. OR 2 PLY 1%"x11%" MIN. LVL INSTALL SDSVa%"
OBROUND HOLE IN SSW BASE PLATE SHALL (2 PLY LVL SHOWN) 4 X372
STEEL PANEL FLANGE. /2 \or/ 5\ - SIT FLUSH & LEVEL ON NUTS. o EggiWUE-BEEE&SS'gi(\:/I'EéVS ; (2
, SSW2 SSW2/ALTERNATE ’ L)/— SIMPSON A34 EACH SIDE NOTE: (SCREWS BY INSTALLER) )
Hl o] [0 o] |or=] ELECTRICAL BUSHINGS T - MULTI-PLY HEADERS MAY BE - 9
AT ALL ROUND MECHANICAL HOLES. USED WITH STEEL STRONG. ( ! > =5
STANDARD * 1" DIAMETER ——~ i dl° °|° °|d°l——t— SOLID BLOCKING BELOW WALL FOR WIND DESIGNS OR ‘ 11 REGISTERED DESIGN PROFESSIONAL < o
| STEEL STRONG-WALL IN SEISMIC DESIGN CATEGORIES 7 IS PERMITTED TO MODIFY DETAILS -
REGISTERED DESIGN PROFESSIONAL ( W 0} {0} {0} [0 ] THREADED RODS _
Pl _ | o[ | |STEEL STRONG-WALL ROD (PROVIDED WITH I ] e A-C (IBC & IRC) ONLY A FOR SPECIFIC CONDITIONS. W 0
IS PERMITTED TO MODIFY DETAILS T — Hl 1ol 1el el o] |1H T~ |AT 2nd FLOOR LENGTH  gqw kT 5 V1= | PSR SR |- (PO
FOR SPECIFIC CONDITIONS. el L — \ ol O 0O
/"2 \oR mALTERNATE T 0110}107 10} |1 / + - = S @\ 538%?6 WITH WALL a
SSW2/ \SSW2 17 W _/ DRILL 1 1/16" MAX DIAMETER Ssw D: O %
= = FOR SHIMS GREATER e\ HOLE IN DOUBLE TOP SSW MULTI-PLY HEADER CROSS SECTION Z 1
(5 - =
THAN 7/8" SEE SSW2 \ 2 Lu
SINGLE-STORY SSW ON CONCRETE 2 il A TTACH TOP OF SSWITO N Nz
/9 Do 5 SORE 2 7 2" INSTALL SDS 1/4"x3 1/2" SCREWS Y (n
e IR MAXIMUM | UPPER PANEL SHEAR SDSY." x 3%%" SCREWS A [ - | @ X
GARAGE HEADER mORm SHEAR TRANSFER ROD LENGTH| REDUCTION FACTOR ™ (PROVIDED WITH SSW) HORIZONTALLY THROUGH LVL OR I LL O
ROUGH OPENING HEIGHT — 7 w2 SSW2/ALTERNATE DESIGN & DETAILS 18 INCHES 100 g 2 x LUMBER HEADER PLYS. 4 SCREWS Z
BY OTHERS = ' TOTAL FOR SSW12, 6 SCREWS TOTAL LL L
ROUGH 21 INCHES 0.94 /
MODEL H — : HEAVY HEX NUTS TOP @x - FOR SSW15, SSW18, SSW21 AND SSW24.
No. cUur | OPENING 7} SSW-STK OPTION — ROD LENGTH IS TOTAL OF FLOOR AND BOTTOM (PROVIDED L] I I
HEIGHT // (FACTORY INSTALLED) — JOIST DEPTH PLUS TOP PLATES A WITH SSW_-2KT). NUTS SHALL T < @ SDS 1/4"x3 1/2" SCREWS PROVIDED
SSW12x7 ‘ 3%" MIN WIDTH — PLUS SHIM THICKNESS. ' BE SNUG TIGHT. DO NOT 1n WITH WALL I_
SSWiSx7 i d : AEADER BY USE AN IMPACT WRENCH. 12% y
SSW18x7 / OTHERS. FOR 2 °opoo ° @ FASTEN PLYS TOGETHER WITH 16d U)
X MULTI-PLY HEADER INTERIOR ELEVATION 1T COMMON NAILS AT 16" O.C. ALONG EACH
SSW21x7 6" 71 o L REQUIREMENTS kg j \\ EDGE OF BEAM.
SSW24x7 \ ) N
SSWi2x8 1 WP SEE { ( : — \@ @ 15/32" SHEATHING BETWEEN
SSW15x8 572 8'-27 i SHEAR TRANSFER PLATE Jololls ° 2x HEADER PLYS SHALL MATCH HEADER
SSW18x8 . AND #14 SELF-DRILLING SCREWS \ DEPTH AND EXTEND FULL WIDTH OF
SSW21x8 6" 8' ) 3}/" H o o u H o O\ u (PROV'DED WITH SSW_'ZKT) STEEL STRONG'WALL SSW, MINIMUM.
A ORDER TWO-STORY
SSW24x8 0 | (SSW18 SHOWN)
SEE SHEET SSW4 STACKED WALL ANk RIM JOIST SIDE VIEW
1. THE HEIGHT OF THE GARAGE CURB FIRST STORY WALL: CONNECTORKIT AN =>2= Vel
ABOVE THE GARAGE SLAB IS CRITICAL ROUGH AN gggéﬁf@iiﬁgzx;m ADD -STK TO MODEL SEPARATELY. Fla ! ! SSW WITH MULTI-PLY HEADER
FOR THE ROUGH HEADER OPENING AT OPENING 1S SPECIFIED ; NAME. — MODEL SSW_-2KT . SHEAR TRANSFER ——— \
GARAGE RETURN WALLS. HEIGHT EXAMPLE: SSW21x9-STK Hl 1ol lol lo] |ol®|H EXAMPLE: SSW21-2KT ‘
2. SHIMS ARE NOT PROVIDED WITH BY OTHERS \
STEEL STRONG-WALL. 011011010 (LTP4 SHOWN) l 11
3. FURRING ON UNDERSIDE OF GARAGE L LI L] L] R \ A — — . -
HEADER MAY BE NECESSARY FOR i 1 POST & POST i i A REGISTERED DESIGN PROFESSIONAL .G 5/ G ¢ G g -G MULTI-PLY HEADERS ~\
LESSER ROUGH OPENING HEIGHTS. BASE DETAIL \SSW2/ 010010110 IS PERMITTED TO MODIFY DETAILS - - L 2 { NAME
BY OTHERS FOR SPECIFIC CONDITIONS. / 1. STEEL STRONG-WALL SHEARWALL IS MANUFACTURED AND TRADEMARKED BY "SIMPSON STRONG-TIE COMPANY, INC." DATE
REGISTERED DESIGN PROFESSIONAL B 8l H Y B 10d COMMON NAILS HOME OFFICE: 5956 W. LAS POSITAS BLVD. , PLEASANTON, CA 94588 TEL: (800) 999-5099, FAX: (925) 847-1597. 4-16-2014
IS PERMITTED TO MODIFY DETAILS g1 & CURB & & (NOT INCLUDED) "SIMPSON STRONG-TIE COMPANY, INC." IS AN ISO 9001 REGISTERED COMPANY.
FOR SPECIFIC CONDITIONS. Il Ik Y al It T TWO-STORY STACKED 2. USE OF THIS PRODUCT IS SUBJECT TO THE APPROVAL OF THE LOCAL BUILDING DEPARTMENT. SCALE N.T.S
H Lol 1ol o] o] H WALL CONNECTION KIT 011010110 3. THIS PRODUCT IS PART OF THE OVERALL LATERAL FORCE RESISTING SYSTEM OF THE STRUCTURE. DESIGN OF THE R
WALL BUILDING'S LATERAL FORCE RESISTING SYSTEM, INCLUDING THE LOAD PATH TO TRANSFER LATERAL FORCES FROM CHECKED
a0\ wIiDTH| MODEL CONTENTS THE STRUCTURE TO THE GROUND, IS THE RESPONSIBILITY OF THE SPECIFIER.
in NO. 4. ENGINEER OF RECORD IS PERMITTED TO MODIFY DETAILS FOR SPECIFIC CONDITIONS.
. . (in) SHEET
GARAGE WALL OPTION 1 GARAGE WALL OPTION 2 , & & : 5 |sswisorT . 5. THE CONTRACTOR SHALL VERIFY ALL DIMENSIONS, CONDITIONS, ELEVATIONS, ETC. PRIOR TO INSTALLATION OF ANY
ol L EACH KIT CONTAINS: COMPONENTS FOR THE STEEL STRONG-WALL SYSTEM. IF ANY DISCREPANCIES ARE FOUND, THEY SHALL BE BROUGHT
NOTE: FOR GARAGE WALL OPTION 2 . T AT 18 |SswisaKT (1) SHEAR TRANSFER PLATE TO THE ATTENTION OF THE SPECIFIER FOR CLARIFICATION PRIOR TO CONSTRUCTION. W
7-FT. HIGH STEEL STRONG-WALL MODELS REGISTERED DESIGN PROFESSIONAL SHALL DESIGN FOR: | g (with #14 SCREWS) 6. INSTALLATION OF PRODUCT SHALL BE DONE IN CONFORMANCE TO THESE DRAWINGS. THE PERFORMANCE OF 2
ARE 80" 2" TALLER THAN 7-FT. HIGH WooD | 1. SHEAR TRANSFER mORm h . I 21 |ssw21-2kT| (B 1" x 48" THREADED RODS (ASTM A36) i MODIFIED PRODUCTS OR ALTERED INSTALLATION PROCEDURES ARE THE SOLE RESPONSIBILITY OF THE SPECIFIER.
STRONG-WALL SHEARWALLS 2. OUT OF PLANE LOADING EFFECT SSW2 SSW2/ALTERNATE N ‘ n % REGISTERED DESIGN PROFESSIONAL (6) HEAVY HEX NUTS 7. SIMPSON STRONG-TIE COMPANY, INC. RESERVES THE RIGHT TO CHANGE SPECIFICATIONS, DESIGNS, AND MODELS
3. INCREASED OVERTURNING AND DRIFT DUE IS PERMITTED TO MODIFY DETAILS 24 |ssw24-2KT| INSTALLATION INSTRUCTIONS EXTERIOR ELEVATION WITHOUT NOTICE OR LIABILITY FOR SUCH CHANGES.
TO ADDITIONAL HEIGHT. FOR SPECIFIC CONDITIONS. 8. ALL HARDWARE CALLED OUT IS SIMPSON STRONG-TIE. OF SHEETS
> JOB NO.




